RERE-AIVITRERRISOLVTHERER -58)

BT H L
321 @
100Bq/kgZ #8253 DO
BIERERE

No BRT RE B B HAElniEsE + 9134 t ) L-137 AEE

(Bgkg) (Bg.kg) (Bg.kg)
1 ZARM™ H25.12.3 INE BRHEET(<1.8) BREET(<1.4) BRHEEY
2 ZARTH H25.12.4 INE BREE9(<1.5) 1.52 15
3 AR H25.12.2 INE BREE9(<1.5) BRHEE9(<1.2) BrREed
4 EEWm(BEBRH) H25.12.2 XK= BRHE9(<4.6) BRHET(<48) BEed
5 EEWMUAREH) H25.12.2 K= BRHEE9(<3.5) 4.07 4.1
6 BET (IBERIRHET) H25.12.2 XK= BRHEEY(<5.9) BRHET(<45) BEed
7 BEMUBEIF) H25.12.2 XK= BRHEE9(<3.9) BRHEE9(<3.7) BrREed
8 | EEHM AR EZEFH) H25.12.2 XK= BREEI(<47) BRHE3(<3.8) BEed
9 AL (1B fENEEHT) H25.11.28 XK= BRHEE9(<4.6) BRHEE9(<3.9) BREed
10 LU (1BEIEEST) H25.11.22 XK= BRHET(<47) 9.50 9.5
11 L (IBERH) H25.11.27 XK= BRHEE9(<3.8) BRHEE9(<3.0) BREed
12 | v (1B BF0EAET) H25.11.26 XK= BRHE3(<46) BRHEE3(<45) - anpcac s
13 | AW (IBBF0EAET) H25.11.26 K= BRHE9(<4.6) 6.52 6.5
14 | v (I8 BF0EAET) H25.11.26 XK= BRHET(L5.1) 5.84 5.8
15 | W (1B BF0EAET) H25.11.26 K= BRHEE9(<6.2) 9.08 9.1
16 | Z L (I8 BF0EAET) H25.11.26 K= BRHEE9(<48) 6.65 6.7
17 | W (1B BF0EET) H25.12.2 = BREE9(<44) BRHEE9(<44) B9




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/kg) (Bakg) (Bakg)

18 | EBLLTH (IHEFNAHET) H25.11.26 p =) BHE9(<45) BHEET(<41) BEEY

19 | AUt (IBBF0EHET) H25.11.26 K= BRHEET(<5.7) 6.56 6.6

20 | BBl (1B B FIEHET) H25.11.28 p =) B 9(<35) B 97(<3.3) ‘e

21 | &Rt (18 B FEHET) H25.12.3 pN=1 BRHE9(<36) BRHEET(<41) BREEY

22 | AT (IERSFHD) H25.12.2 = BRHEY(<46) 5.48 55

23 | AR (IEATAF) H25.12.2 K= BRHE9(<48) 5.09 5.1

24 | BT (IBZHEEFH) H25.12.2 pN=1 BRHEEY(<43) BRHEE9(<4.2) BREEY

25 | LT (1B S HEH) H25.11.18 = BRHE9(<4.6) R 9(<4.6) BRHEEY

26 | AR (I8HFF) H25.12.2 K= BRHEEY(<44) 8.15 8.2

27 | BBt (I8 FFF) H25.12.2 = BRHE9(<4.6) 9.43 9.4

28 | AR (1A ) H25.12.2 pN=1 BRHE9(<36) BRHEE9(<3.1) BREEY

29 | LbhEm (RIREM) H25.11.29 = BRHEF(<5.1) BRHEE9(<3.9) BRHEY

30 | LvbhEm (IRIREHR) H25.11.29 pN=1 BRHEET(L<57) BRHEEY(<3) BREEY

31 | L& (IRREHR) H25.11.29 = BHE9(<3.7) 4.56 4.6

32 | LhEm (BXEH) H25.11.29 K= BRHE9(<4.0) 9.70 9.7

33 | LvbhEm (IBXREH) H25.12.3 = BRHEET(<41) 5.73 5.7

34 | LwbhEM(BXREH) H25.12.3 pN=1 BRHE9(<4.0) B 9(<35) BREEY

35 | EAT B (R H25.11.27 -] B (<34) B (<44) BT

36 | HEM(IBEILKH) H25.12.3 K= 7.13 249 32

37 | ME™ (IBBILAKRH) H25.12.3 K2 BRHEE7(<45) 8.03 8.0




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/kg) (Bakg) (Bakg)
38 | &M (IBAIZAH) H25.11.19 K= BHE9(<5.9) 16.4 16
39 | HEM (IBEILKH) H25.12.3 K= BRHEE9(<5.2) 13.1 13
40 | #8EH (IHEILAH) H25.12.3 X= 4.89 9.20 14
41 | HEM (BBILKRA) H25.12.3 PN 6.26 15.5 22
42 | 8EH (IHEILARF) H25.12.3 X= 5.35 7.11 12
43 | HEM (IBAILKA) H25.12.3 K= BRHE9(<5.3) 16.3 16
44 | BT (IBBILKA) H25.12.3 K= 9.54 30.2 40
45 | #E™H (IHEILAF) H25.12.3 = 133 29.8 43
46 | BT (IBBILKRA) H25.12.3 K= 7.76 14.9 23
47 | HEET(B/\EH) H25.12.2 = BRHEET(<5.1) 6.91 6.9
48 | AR (IH/\WEF) H25.12.3 K= BRHEEY(<43) 1.4 11
49 | HEW(BXEM) H25.12.4 = BRHE9(<4.9) 6.32 6.3
50 | MET(BEXEH) H25.12.2 K= BRHE9(<4.0) 10.1 10
51 | #EW(BXEH) H25.12.2 = BRHE9(<38) 7.17 7.2
52 | MEH(BXEH) H25.12.2 K= BRHEE9(<54) 145 15
53 | HEET (HXEFHH) H25.12.2 = REET(<44) 8.53 8.5
54 | MET(BXEH) H25.12.2 K= BRHEE9(<43) 5.91 5.9
55 | #EE™ (IHXEH) H25.12.2 = BRHE9(<5.3) 9.91 9.9
56 | FEET (IHHFHET) H25.12.2 K= 13.6 24.8 38
57 | BT (BHHIHED) H25.12.2 X=E BRHEET(<54) 15.8 16




AEHER

No BT fREY B B REDIELE trL-134 9 L-137 EEE
(Bakg) (Bgkg) (Bg. kg)

58 | #EET (IBHFHET) H25.12.2 XK= 6.64 10.9 18

59 HET (HERER) H25.12.2 K= BREE9(<54) 9.15 9.2

60 HEM (IBREH) H25.12.2 K= BRHEE9(<4.6) 7.85 7.9

61 HET (HRER) H25.12.2 KE BRHE9(<6.2) 10.2 10

62 HEM (IBREH) H25.12.2 K= BREE9(<47) 12.8 13

63 HET (HRER) H25.12.2 KE BH+E9(<6.0) 10.0 10

64 HET (HEREFR) H25.12.2 XK= 10.6 20.3 31

65 HEM (BREH) H25.12.5 K= BREE9(<4.0) 7.21 7.2

66 HEHIEWULEFR) H25.12.5 XK= 7.55 6.81 14

67 HET (HEEHH) H25.12.5 K= BRHEE9(<3.7) 8.12 8.1

68 :Nﬁﬂqmgﬁ:zgm H25.11.28 XK= BREE9(<45) BRHEE9(<3.7) BrREed

69 :N@?('Eim#ﬁ H25.11.29 K2 BRHEE9(<5.8) BRHE9(<L5.7) BRHEEd

(ZRZHT))
70 ZARWTH (IBABFT) H25.12.2 XK= BRHEE9(<43) BRHEEI(<47) BrREed
ZAWM (BXRBEH = s
Al (SRFORT) H25.12.2 K= BRHEEI(<4.0) 6.02 6.0
72 —*tﬁﬁiﬂ;égfﬁaﬁ H25.12.2 XK= BRHEE9(<5.3) BRHEE9(<3.9) BrEed
ZARMH(EXER = s

73 (HFIAT)) H25.11.29 XK= BRHET(<L5.8) 6.89 6.9

74 —*f‘%ﬁégfmﬁ H25.11.29 XK= BREE9(<4.2) BRHEE9(<3.7) BrEed

75 :*g’;é!nﬁ'ﬁmﬁ H25.11.29 x5 BRHHET(<45) B F(<35) BRHET

76 :**'Aﬂ;‘]fgﬁ—””"'ﬁ H25.11.29 = BREE9(<4.9) BRHEE9(<4.0) B9

77 | =AW BTG H25.11.29 x= 7.81 7.91 16

)




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/kg) (Bakg) (Bakg)

78 :**ﬁm;ﬁw”‘"ﬁ H25.12.2 x= BHET(<49) 130 13

79 :Nﬁﬁ;‘gﬁi“lmﬁ H25.12.2 K= BRHEE9(<48) B 9(<35) BRHEEY

80 :**ﬁﬁgﬁi”'"’ﬁ H25.11.28 x= BHET(<5.2) 6.88 6.9

81 :N’Aﬁ;ﬂg;ﬁimmﬁ H25.12.3 pN=1 B 9(<6.0) BRHEE9(<4.2) BREEY

82 :**ﬁﬁgﬁﬂ 1 H25.12.2 x= BHET(<46) 8.56 8.6

83 :**ﬁﬁ;gai“'"'ﬁ H25.12.2 K= 4.69 9.77 14

84 | HE#TH(BFERH) H25.12.3 pN=1 BRHEEY(<42) BRHEEY(<44) BREEY

85 | HFtT(IHHEIIF) H25.12.3 = BRHE9(<4.9) 4.69 4.7

86 | EAfH (IBEREEFT) H25.11.27 K= BRHE9(<38) 4.19 4.2

87 | mtEET™ (IHEE SHT) H25.12.2 = 9.40 16.9 26

88 | mIfEE T (IHEE SHT) H25.12.2 = 7.22 19.2 26

89 | FHEE™ (IHESHT) H25.12.2 = 7.34 16.2 24

90 | mAfEET (IB/\IRAD) H25.12.3 = 5.81 15.3 21

91 | mMEET (B/\RH) H25.12.2 = BRHE9(<5.2) 10.9 11

92 | FEH(EREF) H25.11.21 pN=1 BRHEET(<47) B E9(<3.0) BREEY

93 | HEM(BXEKF) H25.11.21 = BRHE9(<3.9) R 9(<3.6) BREEY

94 | FEH(BREF) H25.11.28 pN=1 BRHE9(<35) B 9(<35) BREEY

95 | fHEmM (IBRIRET) H25.11.29 = BRHEES(<5.7) R 9(<5.6) BREEY

96 | fFEH(EHERF) H25.11.29 K= BRHE9(<4.9) 5.13 5.1

97 | FHEMUIRE L) H25.11.29 pN=1 BRHE9(<42) ‘e 9(<42) BEEY




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/kg) (Bakg) (Bakg)
98 | FEHIBEFH) H25.11.29 = 1.4 30.4 42
99 | AEW(EFEF) H25.11.27 K= BRHEET(<47) 5.13 5.1
100 | AEMH(BFBEH) H25.11.13 = BRHE9(<5.0) 5.05 5.1
101 | AEH(BFEF) H25.12.3 K= 8.72 13.6 22
102 | AEH(BFHEF) H25.12.2 p =) BB 9(<3.6) ‘e 9(<48) ‘e
103 | AEM(B{ZFHEF) H25.12.5 K= BRHE9(<5.6) 5.85 5.9
104 | RFET(IBHBEF) H25.12.3 pN=1 BRHE9(<4.9) R E9(<3.6) BREEY
105 | ZRAFHET (IBEESF) H25.11.22 = 5.23 9.44 15
106 | ZTET(IBESH) H25.11.22 pN=1 BRHEET(<41) BRHEE9(<43) BREEY
107 | ZRIFET(IBEESF) H25.11.22 = BRHE9(<5.0) 175 18
108 | ERET(IH/MRF) H25.11.21 K= BRHEE9(<5.2) 7.93 7.9
109 | ERET(IB/MRH) H25.11.21 = BRHEET(<44) 9.37 9.4
110 | ERET(IB/MRF) H25.11.21 K= BRHE9(<4.0) 9.54 95
11 | ERET (1B RH) H25.11.21 = BRHE9(<5.6) 15.1 15
112 | ERET(IB/MRA) H25.11.21 K= 5.38 12.8 18
113 | ERET(1B/MRH) H25.11.21 = BRHEET(<41) 9.98 10
114 | ERET(1B/MRA) H25.11.21 K= 9.23 233 33
115 | ERHET (IB/MRA) H25.11.21 = 6.46 9.95 16
116 | ERET(IB/MRA) H25.11.21 K= 5.74 9.38 15
17 | ERET (18 RF) H25.11.21 = 6.28 5.00 11




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/ke) (Bakg) (Bakg)
118 | ERHET(IH/MRF) H25.11.21 = 5.47 214 27
119 | ERET(IB/MRA) H25.11.21 K= B 9(<6.5) 10.0 10
120 | KREH(BXIWLF) H25.11.27 = BRHE9(<3.9) 12.7 13
121 | KREH(BXWF) H25.11.21 pN=1 BRHE9(<4.0) R E9(<43) BREEY
122 | KEF(BXRILF) H25.12.3 pN=1 BHE9(<5.1) BB 9(<34) : Jarhcar
123 | KREH(BRWLA) H25.12.2 K= 6.46 13.1 20
124 | REM(BXEF) H25.12.5 = 5.55 7.46 13
125 | REF(BKREH) H25.12.5 p =1 BRHEE7(<45) BREET(<41) BRHEEY
126 | REF (IBXEF) H25.12.5 pN=1 BRHE9(<4.0) R E9(<5.0) BREEY
127 | REM(BXEF) H25.12.5 = BRHE7(<5.6) 6.34 6.3
128 | FAEMET (IHE)I4T) H25.11.29 pN=1 BREEY(<44) BREEY(<27) BREEY
129 | HAZET (IBHRZHET) H25.11.29 pN=1 BRHEE7(<4.0) BRHEE7(<38) BREEY
130 58T (IR 5HT) H25.11.28 pN=1 BRHE9(<5.2) R E9(<4.0) BREEY
131 | AJIET (1B AH) H25.12.5 = BRHE9(<43) BRHEE9(<2.9) BRHEY
132 | ENIF (IBEZEH) H25.12.5 pN=1 BRHEE9(<42) B E9(<3.0) BREEY
133 | ENIF (IBEZEH) H25.12.5 pN=1 BRHEE7(<4.6) BREE7(<48) BREEY
134 | EJIH(BEZH) H25.12.5 K= BRHE9(<6.4) 4.28 4.3
135 | EJIF (BRH) H25.12.5 pN=1 BREET(<4D) BREET(<44) BREEY
136 | =&HT (1B EH) H25.12.2 K= 4.35 5.22 9.6
137 | =FET(IBREH) H25.12.2 pN=1 BB 9(<46) BHE9(<43) BEEY




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/kg) (Bakg) (Bakg)
138 | =FET(IBREH) H25.12.2 pN=1 BT 9(<4.9) BHE9(<38) ‘rted
139 | =FHBT(IBHEH) H25.12.2 K= BRHEET(<47) 8.25 8.3
140 | NIl (1IB)IAF) H25.12.4 = BRHEY(<45) 8.54 85
141 | #HHuHT (185077 ) H25.12.4 K= BRHE9(<4.3) 9.44 9.4
142 | #FiwET (105047 8&41) H25.12.4 X2 9.76 14.8 25
143 | #HuHT (185077 FEF) H25.12.4 K= BRHE9(<5.0) 10.7 11
144 | #HiwHT (18507 28 H) H25.12.4 K= BRHEEY(<43) 5.52 55
145 | FrufT (IH804 58 41) H25.12.4 = BRHEET(<5.1) 5.95 6.0
146 | #riuHT (1850/7 28 4) H25.12.4 K= BRHE9(<38) 5.33 5.3
147 | BT (IBETHAT) H25.12.4 = BRHEET(<5.1) 7.34 7.3
148 | #THBET (1B FTHFT) H25.12.4 pN=1 BRHE9(<4.9) 10.2 10
149 | FrHET (1B FTHHT) H25.12.4 = BRHE9(<5.5) BRHEE9(<44) BRHEY
150 | #THBET (1B FTHHT) H25.12.4 pN=1 BRHE9(<4.0) 5.25 5.3
151 | #rHBET (1B FTHHT) H25.12.4 = BRHE9(<36) R 9(<3.6) BRHEY
152 | #THBET (1B FTHAT) H25.12.4 pN=1 BRHEE9(<54) 4.75 4.8
153 | #HLET (1B FTHT) H25.12.4 = BRHE9(<48) 4.99 5.0
154 | FTHBET (1B FTHAT) H25.12.4 pN=1 BRHE9(<5.6) 5.12 5.1
155 | #THLET (1B FTHHT) H25.12.4 = BRHE9(<5.3) 8.13 8.1
156 | #THBET (1B FTHAT) H25.12.4 pN=1 BRHE9(<46) 7.43 14
157 | #rHuET (1B FTH) H25.12.4 X=E BREET(<4D) 5.56 5.6




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/kg) (Bakg) (Bakg)
158 | #iuET (IBFTHAL) H25.12.4 K2 BRHEE7(<4.0) 4.49 45
159 | HruET (IBETHAT) H25.12.4 K= BRHEE9(<48) 11.4 11
160 | #THuET (IBFTHEAD) H25.12.4 X2 5.55 6.57 12
161 | BT (IBETHAT) H25.12.4 K= BRHET(<37) 8.08 8.1
162 | FuET (IBFTHAL) H25.12.4 = BRHEE7(<48) 9.92 9.9
163 | BT (IBETHAT) H25.12.4 K= BRHE9(<5.2) 9.19 9.2
164 | #uET (IBFTHEAD) H25.12.4 pN=1 BRHE9(<5.0) 9.89 9.9
165 | BT (IBETHAT) H25.12.4 = BRHE9(<5.3) 6.80 6.8
166 | #THuET (IBFTHEAD) H25.12.4 pN=1 BRHEEY(<54) 6.19 6.2
167 | BT (IBETHAT) H25.12.4 = BRHEE9(<42) 9.71 9.7
168 | #THBET (IBFTHHT) H25.12.4 pN=1 BRHE9(<5.0) 7.11 71
169 | #rHuET (IBFTHHT) H25.12.4 = BRHEE9(<42) 6.30 6.3
170 | #THBET (1B FTHHT) H25.12.4 pN=1 BRHEEY(<54) BRHEE9(<43) BREEY
171 | #FHBET (1B FTH) H25.12.4 = BRHEET(<44) BRHEE9(<3.2) BRHEY
172 | #THBET (1B FTHAT) H25.12.5 pN=1 BRHE9(<5.0) 7.43 14
173 | FHLET (IBFTHA) H25.12.5 = BRHEEF(<5.1) 7.77 7.8
174 | FihlT (IBEHAT) H25.12.5 K= BRHE9(<4.0) 4.74 4.7
175 | FrHoET (IBFTHA) H25.12.5 = BREET(<4.6) 123 12
176 | #THBET (1B FTHHT) H25.12.5 pN=1 BRHE9(<4.9) 1.3 11
177 | #nET (1B42EA) H25.12.5 K2 BREET(<41) 5.32 5.3




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/kg) (Bake) (Baskg)
178 | #rHET (ItEEH) H25.12.5 X=E BRHEE7(<5.0) 459 46
179 | #ET (IBfEEA) H25.12.4 XK= 5.95 11.6 18
180 | #TihET (1RFEAH) H25.12.4 pN=1 B 9(<5.3) BHE9(<3.8) ‘e
181 | #rfT (IBfEEA) H25.12.4 K= BRHE9(<45) 8.31 8.3
182 | #niuET (1BfBEA) H25.12.4 = BRHEE7(<4.9) 447 45
183 | #ET (IBfEEA) H25.12.4 K= BRHE9(<36) 5.52 55
184 | #niuET (IHfEEA) H25.12.4 pN=1 BRHE9(<3.9) R E9(<4.0) BREEY
185 | #rfT (IBfEEA) H25.12.5 = 6.12 13.2 19
186 | #rHuMT (IBfEEF) H25.12.5 K= 6.45 16.7 23
187 | #rfiT (IBfEEA) H25.12.5 = BRHE9(<6.1) 7.98 8.0
188 | #THBET (IHtEEF) H25.12.5 pN=1 BRHE9(<5.3) R E9(<3.9) BHET
189 | #rHbET (IHtEEH) H25.12.5 = BRHE9(<3.9) 5.23 5.2
190 | #rHuBT (IBfEEF) H25.12.2 K= BRHE9(<29) 1.1 11
191 | #HHET (I$EEH) H25.12.2 = BRHE9(<45) 8.66 8.7
192 | FihlT (IB4EEAF) H25.12.2 K= BRHEE9(<46) 9.27 9.3
193 | #HET (IBtEEH) H25.12.4 = BRHE9(<5.2) 6.75 6.8
194 | FrihlT (IBEEAF) H25.12.4 K= B E9(<6.0) 7.54 75
195 | #rHLET (ItEEH) H25.12.4 = BRHE9(<5.5) 5.83 58
196 | FihlT (IBEAF) H25.12.4 K= BRHE9(<5.9) 8.10 8.1
197 | #nET (1BfBEA) H25.12.4 X=E BREET(<44) 9.37 9.4




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/kg) (Bake) (Baskg)
198 | #niuET (IBtBEA) H25.12.4 X=E BRHEE7(<4.0) 450 45
199 | FrET (IBfEEA) H25.12.4 K= BRHEE9(<5.2) 115 12
200 | #reET (IH4EEF) H25.12.4 = BREET(<44) 9.13 9.1
201 | #hET (IBFEEH) H25.12.5 pN=1 BRHE9(<42) R 9(<3.8) BHEd
202 | #rET (IH4EEF) H25.12.4 = BRHEE7(<5.3) 457 46
203 | #ruET (IBfEEF) H25.12.4 K= BRHE9(<5.2) 4.29 4.3
204 | FrHET (IH4EEF) H25.12.4 pN=1 BRHE9(<5.8) R E9(<5.8) BREEY
205 | #riuET (IBfREF) H25.12.4 = 5.16 6.91 12
206 | #TuET (IHFEEF) H25.12.4 K= BRHEET(<4) 13.8 14
207 | #ruET(IBfREF) H25.12.4 = BRHE9(<5.8) 5.79 5.8
208 | #hET (IHFEEAH) H25.12.4 K= BRHEEF(L5.1) 5.81 58
209 | FhET (IBFEEAH) H25.12.4 = BRHEES(<37) 4.98 5.0
210 | AR (IHASFH) H25.12.3 ME BRHEE9(<46) 3.92 3.9
211 | SAREM (AR H25.11.29 mElE BHEF(<50) BHEF(<50) Bies
212 %E%%‘fﬁ('aﬁ‘ﬁ H25.11.29 ME BRHEEY(<44) B 9(<6.0) BHET
213 %5%%%?;(!55%5)‘{ H25.11.29 MEE BRHE9(<48) RHEE9(<44) BRHEEY
214 | AJIET (IHEFARIRF) H25.12.5 ME BRHE9(<5.0) R 9(<4.0) BHET
215 | BB (IBFAH) H25.12.5 MEE BRHE9(<46) RHE9(<3.8) BRHEEY
216 | HWEET(BB|HEF) H25.11.26 ME BRHEE$(<57) 10.2 10
217 | NIAF (BJIAF) H25.12.4 EES BREET(<3) 7.68 7.7




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/kg) (Bakg) (Baskg)
218 | JIIA#H (IB)IIAF) H25.12.4 EES BT 9(<4.9) BHE9(<38) ‘rted
219 | JIAF (IBIIRH) H25.12.4 ME BRHEE9(<48) R E9(<4.3) BHEd
220 | JIAF (IBNITRF) H25.12.4 EES BRHEY(<48) 5.39 5.4
221 | JIUAF (BJIAF) H25.12.4 e BRHE9(<3.0) 4.43 4.4
222 | JURHA (IBJIRH) H25.12.4 EES Bt 9(<40) ‘e 9(<3.9) : Jarhcar
223 | JIAF (BJIAF) H25.12.4 e BRHE9(<4.3) 4.11 4.1
224 | JIAF (B)IAF) H25.12.4 MEE BRHEE7(<4.9) BHE9(<5.2) BREEY
225 | JIAF (IBIITRF) H25.12.4 Mz BRHE9(<48) R E9(<3.8) BRHEEY
226 | JIIAF (BJIAF) H25.12.4 ME BRHE9(<5.0) R E9(<4.0) BREEY
227 | JUAF (BJIAF) H25.12.4 Mz BRHE9(<5.0) 3.31 3.3
228 | JIIA#F (IB)IAF) H25.12.4 MEE BRHEET(<34) ®HE9(<35) BREEY
229 | JIIA#F (BJIAF) H25.12.4 MEE BRHEET(<3) BRHEE7(<3.9) (; Jashcac
230 | JIIA#F (BJIAF) H25.12.4 MEEX BRHEET(<34) R E9(<4.6) BREEY
231 | JIUAF (BIITRF) H25.12.4 ML BRHE9(<45) R 9(<3.8) BRHEY
232 | JIIRF (IBITRH) H25.12.4 ME BRHEE9(<42) BRHEE9(<3.9) BHET
233 | JIIAF (IBIITRF) H25.12.4 MEIL BRHEET(<47) 5.14 5.1
234 | JIIRF (IB)IITRH) H25.12.4 ME BRHEE9(<54) R 9(<45) BHET
235 | JIAF (IBIITRF) H25.12.4 MEE BRHE9(<4.0) BRHEE9(<3.2) BRHEEY
236 | JIIAF (IB)ITRH) H25.12.4 ME BRHEEY(<44) BRHEET(<4) BHET
237 | NIAF (BJIAF) H25.12.4 EES BRHEE7(<3.2) 3.24 3.2




AEHER
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(Ba/kg) (Bakg) (Bakg)
238 | JIIA#H (IBJIAF) H25.12.4 EES BT 9(<48) ‘e 9(<44) ‘rted
239 | JIAF (IBIIRH) H25.12.4 ME BRHE9(<5.3) R E9(<4.9) BRHEEY
240 | JUPRHAS (IR H25.12.4 EES BHE9(<5.7) Bt 9(<4.0) ‘e
241 | JIAF (IBNIRF) H25.12.4 e BRHE9(<35) BRHEET(<41) BREEY
242 | JIAF (IBNITRF) H25.12.4 EES BRHEY(<46) 3.76 38
243 | JIIAF (IBIIRF) H25.12.4 e BRHE9(<5.2) R 9(<4.0) BREEY
244 | JIIAF (BJIAF) H25.12.4 MEE BREET(<47) BRHEE9(<3.2) BREEY
245 | JIIAF (IBIITAF) H25.12.4 Mz BRHEET(<37) R E9(<3.8) BRHEEY
246 | JIIAF (BJIAF) H25.12.4 MEE BRHEET(<43) R E9(<38) BREEY
247 | JIAF (IBNIRF) H25.12.4 Mz BRHE9(<48) R 9(<3.6) BRHEEY
248 | JIIA#F (IB)IAF) H25.12.4 MEE RHEE7(<5.3) RHE9(<3.9) BREEY
249 | JIIAF (IBNIRF) H25.12.4 ML BRHE9(<43) 4.47 45
250 | JIRAF (IB)IRH) H25.12.4 MEEX BRHE9(<38) 6.01 6.0
251 | JIAF (BIIRF) H25.12.4 ML BRHE9(<3.9) BRHEE9(<43) BRHEY
252 | JIIRF (IB)IITRH) H25.12.4 ME BRHE9(<38) BRHEE9(<34) BREEY
253 | JIIAF (IBNIITRF) H25.12.4 MEE BRHEET(<44) R 9(<45) BRHEEY
254 | JIIAF (IBIIRH) H25.12.4 MEE BRHE9(<3.9) 5.23 5.2
255 | JIIRF (IBNITRF) H25.12.4 MEE BRHE9(<5.9) RHE9(<4.8) BRHEEY
256 | JIIF (IB)ITRH) H25.12.4 ME BRHE9(<5.6) B 9(<45) BREEY
257 | NIR#H (B)IIAF) H25.12.4 EES B E9(<5.3) BHE9(<3.9) ‘rted




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
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258 | JIIAF (IBJIIAF) H25.12.4 EES BREET(<4) 4.82 48
259 | JIAF (IBIIRH) H25.12.4 ME BRHE9(<45) BRHEE9(<4.2) BHEd
260 | JIAF (IB)IIRH) H25.12.4 Mz BRHE9(<36) 4.86 4.9
261 | JIAF (IBIIRF) H25.12.4 e BRHE9(<48) R E9(<43) BREEY
262 | JIIAF (IB)IIRH) H25.12.4 Mz 5.44 9.09 15
263 | JIIAF (IBJIAF) H25.12.4 e BRHE9(<4.6) 4.13 4.1
264 | JIIAF (B)IAF) H25.12.4 MEE BRHEET(<43) BRHEET(<47) BREEY
265 | JIIAF (IB)IRF) H25.12.4 Mz BRHEE9(<42) R 9(<45) BRHEEY
266 | JIIAF (IB)IAF) H25.12.4 MEE BRHEE7(<5.0) BHE9(<5.3) BREEY
267 | JIAF (IBIIRF) H25.12.4 Mz BRHE9(<4.0) BRHEE9(<43) BRHEEY
268 | JIIAF (IBJIAF) H25.12.4 MEE RHEE7(<5.9) BHE9(<5.3) BREEY
269 | JIAF (IBIIAF) H25.12.4 ML BRHE9(<4.9) BRHEE9(<43) BRHEY
270 | JIUAF (IBNIRF) H25.12.4 ME BRHE9(<43) 3.77 38
271 | JUAF (IBITRF) H25.12.4 ML BRHE9(<6.3) B 9(<6.0) BRHEY
272 | JIAF (IBNIRH) H25.12.4 ME BRHE9(<5.6) 5.44 5.4
273 | JIAF (IBNITRF) H25.12.4 MEE BRHEET(<47) R 9(<4.6) BRHEEY
274 | JIIAF (IBITRH) H25.12.4 ME BRHEE9(<46) B E9(<4.9) BHET
275 | JIAF (IBNITRF) H25.12.4 MEE BRHE9(<5.6) R 9(<5.6) BRHEEY
276 | JIAF (IBIIRH) H25.12.4 ME BRHEET(<47) 5.33 5.3
277 | NIAF (BJIAF) H25.12.4 EES BREET(<3) 4.69 4.7
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278 | JIIAF (IBNIITRF) H25.12.4 EES BRHEE7(<5.5) 5.74 5.7
279 | JIAF (IBIIRH) H25.12.4 ME BRHE9(<4.9) 6.39 6.4
280 | JIAF (IR H25.12.4 EES BRHEEY(<42) 3.92 3.9
281 | JIAF (IBIIRF) H25.12.4 e BRHE9(<4.3) BRHEET(<41) BREEY
282 | JIIAF (IBNIAH) H25.12.4 EES BRHEY(<43) 5.87 5.9
283 | JIIAF (IBNIAF) H25.12.4 e BRHET(<44) 4.12 4.1
284 | JIIAF (IBJIAF) H25.12.4 MEE BRHEE7(<5.5) BRHEET(<47) BREEY
285 | JIIAF (IBJIAF) H25.12.4 Mz BRHEET(<47) 7.07 7.1
286 | JIIAF (IR H25.12.4 ME BRHE9(<46) 4.80 4.8
287 | JIAF (IBJIAF) H25.12.4 Mz BRHEET(<44) 5.42 5.4
288 | JIIAF (IB)IAH) H25.12.4 ME BRHEEY(<34) 5.51 55
289 | JIIAF (IBIIAF) H25.12.4 ML BRHET(<5.4) 7.01 7.0
290 | JIAF (IBIIRH) H25.12.4 ME BRHE9(<5.2) 5.52 55
291 | JIAF (IBIIRF) H25.12.4 ML BRHE9(<4.6) 7.42 74
292 | REM(BEEF) H25.12.2 NG BRHEE9(<42) 8.95 9.0
293 | EEMIBSNF) H25.12.2 INE BRHEE7(<38) BREE7(<3.6) BRHEEY
294 | fEEW(HESF) H25.12.2 =1 8.50 21.1 30
295 %i%*ﬁj (IBAF H25.12.3 ING BRHE9(<4.0) BRHE9(<3.8) BRHEd
296 | HHE™ (IBBILKH) H25.12.3 NG BRHEE9(<42) 9.26 9.3
297 | #BE™ (IBBILARH) H25.12.3 INE B E9(<40) B E9(<4.0) ‘rted




AEHER

No 15T £REY B By AHDEHE > L-134 9 L-137 BHIE
(Ba/kg) (Bakg) (Bakg)
298 | A& ™ (IBBILARH) H25.12.3 INE BHE9(<5.2) BHE9(<38) BEEY
299 | A5 (IH B ILAF) H25.12.3 ING BRHE9(<35) 3.59 36
300 | #ARET(IB/\iEH) H25.12.2 INE BHE9(<3.9) BB (<37 ‘e
301 | #BIE™ (IH/\#E+) H25.12.2 INE BRHEET(<41) B E9(<3.9) BREEY
302 | BT (BXEFF) H25.12.2 INE BHET(<41) BHE9(<3.8) ‘e
303 | #AE™ (IHKEHH) H25.12.3 INE BRHE9(<38) B E9(<3.0) BREEY
304 | HEET (IHEREH) H25.11.11 INE BRHEEY(<34) 7.75 7.8
305 | HEW (IHREH) H25.12.2 ING BRHEE9(<42) 4.20 4.2
306 | HHET (IHEREH) H25.11.11 INE BRHEET(<41) 10.6 11
307 | #AE™W (IHWLLEH) H25.12.5 INE BRHE9(<38) BRHEE9(<34) BRHEEY
308 | #E™ (IHEEHH) H25.12.5 =1 4.06 10.2 14
309 | MM (1B/\iRF) H25.12.3 INE 6.50 185 25
310 | #iuET (IHEA $E4T) H25.12.4 ING BRHE9(<43) R E9(<2.9) BREEY
311 | #hET (IBE0/ 2841) H25.12.4 INE BRHE9(<38) R 9(<3.6) BREEY
312 | #iuET (IHER $E4T) H25.12.4 ING BRHEE9(<34) BRHEE9(<3.1) BREEY
313 | #ihET (IHE0/7 %8 +T) H25.12.4 INE BRHEET(<34) RHEE9(<34) BREEY
314 | #uET (IHER SE4T) H25.12.4 ING BRHEE9(<43) BRHEE9(<3.) BREEY
315 | #hET (1B A) H25.12.2 INE BRHE9(<36) BRHE9(<3.3) BREEY
316 | #uET (IHFTHAT) H25.12.4 NG BRHE9(<43) BRHE9(<3.8) BREEY
317 | #ET(IHFEEF) H25.12.5 INE BHE9(<33) ‘e 9(<29) BEEY
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318 | BT (IBf2EH) H25.12.4 ING BRHEE3(<3.8) BREEY(<3.4) BREET
319 | FrihET (IH42EF) H25.12.4 ING BRHEE9(<3.9) BRHEE9(<4.0) BrEed
320 | FrHLET (IBfREF) H25.12.5 ING BRHEE9(<3.6) BREE9(<3.2) BREET
321 | FHET(IBEEFT) H25.12.4 ING 419 12.1 16
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